35 2608 INDICES 2gth February
Show all necessary working and set your ‘work out in & neat and logical manner.
. Simplify these expressioms.
- (a) 32% x Bs® (d) (—3ap*)®
(b) 156°5° + 3ab . (2% x 6202
(©) 3a X 3a X 3¢ 3w* X dwd
c : ; -_
3a+3a+3a () (65°y°)* = 3573
2. HExpress the i@fiowmg terms in their Szmﬂest form without, negasive mdices:
. (a) a2 (e) 33T
S Yo = -3, .3
; vy [ 3 : (f> L % 52
®) {1
a1
;N\ =2 (&) 3
o a
@ (3) 243 gomt
(h) 575+t — 5%
(&) (Bm™)
3. HEvaluate:
(a) 97 (@) 873
(b) 273 2K -3
0 (@
)
A
- G ) _'&%& - -3
© (-2) |
4 (a) Find the value of 2%y ! given £ — 3 and y=3.
{(b) Evaltate a2 = bc ! when g — —2.b=—1and e= z.
- Use the index laws to si Tmplif y the following expressions 1S, gIVING yOUr answer Im terms
[ J___P_O_SIG}_VP '1"7(7'3'(”’?9 I
1573 4 ~ —512 - . —312
. i’a) LDO c. . (c) a7 b : Z2lg i
Y 3be—4 VT (—28%0)2 T 4a—1p
273\ —2
m [22F N B x B
7 \\ 53 (d> \";! bant-2n
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